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1. ‘Part-A’ may be attempted in first
6 pages of Answer-sheet.
qrT—37 F TR, JA-JRAH H TEA 6
gt 9T & & /

5. ‘Part—B’ may be attempted in rest
of the sheets of Answer-sheet.
s &’ & T, IO gl 1B ISt
783 / “

3._Answer. may be given in Hindi or

English.
ge7 ot orear R<t 7 g

[Part — A]
[wrr-3A]

Attempt any 10 questions :

=8 10 gl @ oo} fafad— 10x2 = 20

(i) Describe the three lavels of data

abstraction.
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(ii)

(iii)

(iv)

)

(vi)

(vii)

(viii)

2)
e ceaisl & dF wWd &l ot

AR |

Define the "integrity rules”.

Fqga=igarl P @ afoTeE BN

What is E-R model ?

E,Rgﬁrﬁqwm% ?

What is 2 Relation Schema and

instance?

mmwm(mﬁ)w
£aT 8 ?

What is Relational
Fae-SreroTd azrr
What is DML (Data Man
Language) ?
SifepeT AgAYE HIST T 2t ¥
What is normalization * 7
AT T Bl ¥ ?
What are the unary Opcratnons in
Relational Algebra ?

ey dyorfor & grdy AR &
(2

iplo
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(ix)

(x)

(xi)

3) 500

How primary key is different from

unique key ? Explain.

i e @ Wt Ge R R
g, ga=TEd |

State the difference between security

and integrity of data.

St T e U fagaEEar § 3R
fafad |

List two reasons why null values might

be introduced into the database.

ATFT-STER § T AT &4 B & HRON

m )aFtaes for following in E-R

ak entlty sct Derived attribute.

E-R o@ #§ Fr=fafadl & g9 a15d ¢
gda afedt &<, g e

(xiii) Explain rollback command.

ATAE FAFS H AT B |

(xiv) Explain Mapping Cardinalities.
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(xv) Define a relation.
Feer T g FHIT |
2 Attempt any five questions :
Y e B AR Sxa=20
(i) What do you understand by insertion,

update and deletion anomalies in the
process of normalization ?
referesiReeT kAT ¥ wiafte, STz qar
RrerqT framiaat q HIT AT A@r ® 2
(ii) What are the six fundamental

operations of relational algebra and

v)

(vi)

€) 500
el T Tiege @ e @i
HIfT |
What is data independence ? Explain
the difference between physical and
logical data independence With
example. :
HlHST WAsar F1 &l & ? ifas wd
WTHIT SRS TATAT BT ST ISTE
afeq aasmsd |
What is join ? Explain any two types

of joins with example.

(vii) Define functional dependency Explain

iii) What are the fmpﬂ; PTAEPSate. gr e \ivies 46/ non-trivial FD with

administrator ?
rfEgT-aTEIR (AR & I F T
E

Define an entity and an attribute. Also
ved

(iv)
explain composite and deri
attributes with the help of suitable

example.

example.

FATHE fH@r  ofenfita S
fefyere ug A-fefdere FD & diemesor
I |

(viii) Explain the purpose and appliation of

DBMS.
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2K5-DS-4 J o WA T Wi | @KS-DS-4 (7) 500
RENS " (iii)  Find the number of employees working
Wn{a | in 'accounts' department,
[Part-B] aan favm & @wrd anfafai 4 wen
[wTT-4) sier AR
Attempt any three questions : (iv)  Find the second maximum salary from
frf i el & T - . 3%20 = g lh’c luhlic. | . o
Consider the relational table given below ang ANETET | GEU SHaFaT Jaq snd F1iad |

answer the following SQL queries :
Employee (SSN_NO, NAME, DEPARTMENT,

SALARY)
£ & gaelt afeer & SMUR Wi Frsfateg
SQL AR & Il CEE 4.

wfarlt (SSN_NO, NA
SALARY)

PO

(v)  Find the employee who is getting the
minimum salary.
AT AT U HA A FHard o
B |
Draw the E- to design a system for
g that produces scientific

s on various subjects. The books are

(i) List all the emph ccs wh /dl rTomate g{f‘@ bpﬁ@qﬁ /(vho specialize in one

starts with the let
L' 37&R & WIOH A & mﬁ Al @
g 913 |

(ii) Find the maximum salary -given to

. employees in each department.

- % famT F it @ far siftrean
AT T B |

particular subject. The company employs

editors who not necessarily being specialists
in a particular area, each take sole
responsibility for editing one or more
publications.

A publication covers essentially one of the

specialist subjects and is normally written by
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500 \

n writing a particular

(8)

a single author. Whe . |
book, each author works with editor, but may
submit another work for publication to be

supervised by other editors. To improve

their competitiveness,

employ a variety of authors,
ng a specialist in a particular

the company tries to
more than one

author bel

;ﬁ:gwmwmﬂﬁwwmmf
et @ frd Rieew feomee &0 &g E-R oM@
m,gﬁﬁﬁm@ﬁsﬁﬁwﬁm
gmgﬁﬁ%#m%gmﬁ!ﬁaﬁr@?ﬁ
2 o 7@ Fadw &% & Ry (FEHR) TELE

A, o YO & U5 I HAS IR A

HurET &1 e AT ST ©

FaT FET E, O TF & A A qrAra: feran
g & | T Y g5E 3 a@ |, Td% aes
HIEH B G FIA HCT &, TG § & T THIIA
P g HITEEH B TATEOT ¥F AT HT Fbell € |
@ gfreqaf & gar 3, Fo Rl age! o
o UF & ftre dEe A o gy Rug
fashos & St @S # BT F qHar B
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(a); What is DBMS architectyre ? Explain

in detail, what are 3 leve] DBMS
.architecture.

DBMS aregiired &1 2t ¥ 2 iy e

DBMSW&IWW@—@[%,W%
FHE |

(b)  What is distributed database concept ?
Explain in detail what are the
advantages.
faaRe sriwe-smar sramor @ %2
S 7 9 ¥, Rew & e

Given' (fRar' ®)

R = (CID, CNAME, CCITY, STATE, PID

PNAME, -PCOST, PPROFIT, SALE,

SALEDT)

F = {CID —» CNAME, CCITY

PID — PNAME, PCOST, PPROFIT
CCITY — STATE
CID, PID, SALEDT — SALE}

Normalize the relation.

T T AL SR R |



7 (a) What is Data Mining ? What is the

difference between classification and

association in the context of data

mining ? |

STieT AT T BT § 7 §6%h daH ¥,

e Ud G § FT SR 8 7
(b) What s auvshorizatien and authenti-

pl(@ma;técontrols in

data

ttps Udl%l-c?mgftf b|t5|n/ L A
ATHST-TR F ana:l'ﬂTa? ﬁmﬁvﬁ Cal \
g | \
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